
B-79 P. T. O. 

18/2    Roll No. ………………….. 

MS–109/MBAH–106 

Financial Management 

¼foŸkh; izcU/k½ 

Master of Business Administration/ 

Diploma in Management 

(MBA-16/MBA-17/DIM-16/DIM-17/MBAH-11) 

Second Semester, Examination, 2017 

Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Why is it inappropriate to seek profit maximization as 

the goal of financial decision-making ? How would 

you justify the adoption of wealth maximization as an 

apt substitute for it ? 

foŸkh; fu.kZ; ysus ds y{; ds :i esa ykHk dks vf/kdre 

djus dks pquuk D;ksa vuqfpr gS \ ,d mi;qDr fodYi ds 

:i esa /ku dh vf/kdrerk dks viukus dk vkSfpR; dSls lgh 

gksxk \ 

2. What do you mean by Optimum Capital Structure ? 

Critically compare traditional theory with the net 

operating income approach of capital structure. 

vuqdwyre i¡wth lajpuk ls vki D;k le>rs gSa \ iw¡th 

lajpuk dk ‘kq) ifjpkyu vk; n`f”Vdks.k rFkk ikjEifjd 

fl)kUr dh leh{kkRed rqyuk dhft,A 

3. What do you mean by Gross and Net working capital ? 

Explain the various considerations that should be taken 

into account while estimating working capital required 

for a business. 

ldy rFkk ‘kq) dk;Z’khy iw¡th ls vkidk D;k vk’k; gS \ 

,d O;olk; dh dk;Z’khy iw¡th dh vko’;drk dk vuqeku 

yxkrs le; fdu&fdu ckrksa dk /;ku fn;k tkuk pkfg, \ 
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4. Consider the following projects : 

fuEufyf[kr ifj;kstukvksa ij fopkj dhft, % 

Projects 

ifj;kstuk 

Cash Flows (`) jksdM+ vUrokZg ¼`½ 

C0 C1 C2 C3 C4 

A –1,000 +600 +200 +200 +1,000 

B –1,000 +200 +200 +600 +1,000 

C –1,300 +100 +100 +100 +1,600 

D –1,300 0 0 +300 +1,600 

(a) Calculate the payback period for each project. 

izR;sd ifj;kstuk ds fy, iquHkqZxrku vof/k dh x.kuk 

dhft,A 

(b) If the standard payback period is 2 years which 

project will you select ? Will your answer be 

different if the standard payback is 3 years ? 

;fn ekud iquHkqZxrku vof/k 2 o”kZ gks rks vki fdl 

ifj;kstuk dk p;u djsaxs \ ;fn ekud iquHkqZxrku 

vfo/k 3 o”kZ gks rks D;k vkidk mŸkj vyx gksxk \ 

(c) If cost of capital is 10%, compute the Net Present 

Value (NPV) and Profitability Index for each 

project. Which project would you recommend on 

the basis of the above computation ? 
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;fn iw¡th dh ykxr 10% gks rks izR;sd ifj;kstuk ds 

fy, ‘kq) orZeku ewY; rFkk ykHknk;drk lwpdkad dh 

x.kuk dhft,A mi;qZDr x.kuk ds vk/kkj ij vki fdl 

ifj;kstuk dk p;u djsaxs \ 

Note : Present value of  ` 1 @ 10% is 0.909 for first year, 

0.826 for second year, 0.751 for third year and 

0.683 for fourth year. 

 10 izfr’kr ls ` 1 dk orZeku ewY; 0-909 izFke o”kZ] 

0-826 f}rh; o”kZ] 0-751 r`rh; o”kZ rFkk 0-683 prqFkZ o”kZ 

esa gksxkA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Relationship between Risk and Return. 

tksf[ke rFkk izR;k; ds e/; lEcU/kA 

2. Financial Planning and Strategy. 

foŸkh; fu;kstu rFkk j.kuhfrA 
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3. Types of Leverages. 

mŸkksyd ds izdkjA 

4. Importance of Inventory Management. 

LdU/k izcU/k dk egRoA 

5. Baumol‟s model of cash management. 

jksdM+ izcU/k dk ckSeksYl ekWMyA 

6. SEBI and Corporate Governance. 

lsch rFkk dkWiksZjsV xous±lA 

7. There are three companies in the region manufacturing 

a particular chemical. Following data are available for 

the year 2016-2017 : 

,d {ks= esa fo’ks”k jlk;u ds fuekZ.k esa rhu dEifu;k¡ gSaA o”kZ 

2016&2017 ds fy, fuEufyf[kr vk¡dM+s miyC/k gSa % 

(` Lakhs) ¼` yk[k½ 

Company 

dEiuh 

Net Sales 

‘kq) foØ; 

Operating 

Cost 

ifjpkyu 

ykxr 

Operating 

Asstes 

ifjpkyu 

ifjlEifŸk;k¡ 

A Ltd. 

, fyfeVsM 300 255 125 

B Ltd. 

ch fyfeVsM 1,500 1,200 750 

C Ltd. 

lh fyfeVsM 1,400 1,050 1,250 
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Using relevant ratio, discuss which company is the best 

performer as per your assessment and why ? 

izklafxd vuqikr dk mi;ksx djrs gq, ppkZ dhft, fd 

vkids ewY;kadu ds vk/kkj ij dkSu&lh dEiuh dk izn’kZu 

Js”B gS vkSj D;ksa \ 

8. ABC Ltd. was started a year back with a paid-up 

equity capital of ` 40,00,000. The other details are as 

under : 

,chlh fyfeVsM] ,d o”kZ igys ` 40]00]000 dh iznŸk lerk 

iw¡th ds lkFk ‘kq: dh x;hA vU; fooj.k uhps fn, x, gSa % 

Earnings of the company  

dEiuh dh vk; ` 4,00,000 

Dividend paid  

iznŸk ykHkka’k ` 3,20,000 

Price-Earnings ratio  

ewY;&vtZu vuqikr 12.5 

Number of shares  

va’kksa dh la[;k 40000 

You are required to find out whether the company‟s 

dividend payout ratio is optimal, using Walter‟s 

formual. 

okYVj ds lw= dk mi;ksx djrs gq, vkidks ;g Kkr djuk 

gS fd D;k dEiuh dk ykHkka’k Hkqxrku vuqikr b”Vre gSA 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False. 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR;A 

1. Financial Management is more than the procurement 

of funds. 

foŸkh; izcU/k foŸk dks izkIr djus ls dgha vf/kd gSA 

2. A long-term investment decision is called capital 

budgeting decision. 

,d nh?kZdkfyd fuos’k fu.kZ; dks i¡wth ctVu fu.kZ; dgk 

tkrk gSA 

3. In India, commercial papers can be issued for any 

amount and for any duration. 

Hkkjr esa] okf.kfT;d i= fdlh Hkh jkf’k ds fy, vkSj fdlh 

Hkh vof/k ds fy, tkjh fd;k tk ldrk gSA 

4. The cost of capital does not play an important role in 

determining capital structure of public sector 

enterprises. 
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lkoZtfud {ks= ds m|eksa dh iw¡th lajpuk dks fu/kkZfjr djus 

esa iw¡th dh ykxr ,d egRoiw.kZ Hkwfedk ugha fuHkkrh gSA 

5. Flexibility of capital structure refers to the ability of 

the firm to issue additional equity share capital. 

iw¡th lajpuk dk yphykiu vfrfjDr lerk va’k iw¡th ds 

fuxZeu ds fy, dEiuh dh {kerk dks n’kkZrk gSA 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. ............. as a fund based financial service provides 

resources to finance receivables as well as facilitates 

the collection of receivables. 

----------------------------
 ,d fuf/k vk/kkfjr foŸkh; lsok gS tks izkI; fcy 

ij foŸk izkIr djus ds fy, lalk/ku iznku djrh gS rFkk 

lkFk gh izkI; fcyksa ds laxzg dh lqfo/kk Hkh iznku djrh gSA 

7. ............... structure refers to the way in which the 

firm‟s assets are financed. 

----------------------------
 lajpuk ml rjhds dks lUnfHkZr djrh gS ftlesa 

QeZ dh lEifŸk foŸkiksf”kr gksrh gSA 

Indicate the correct answer option : 

mŸkj ds fy, lgh fodYi dk pquko dhft, % 

8. „Constant dividends per share‟ policy is considered as : 

(a) Increasing dividend policy 
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(b) Decreasing dividend policy 

(c) Stable dividend policy 

(d) None of the above 

^izfr va’k LFkk;h ykHkka’k* ls vk’k; gS % 

¼v½ c<+rh gqbZ ykHkka’k uhfr 

¼c½ ?kVrh gqbZ ykHkka’k uhfr 

¼l½ fLFkj ykHkka’k uhfr 

¼n½ mi;qZDr esa ls dksbZ ugha 

9. If EBIT is less than financial break-even point,  

then : 

(a) EPS will be positive  

(b) EPS will be negative 

(c) There will be no impact on EPS 

(d) Cost of debt raises 

;fn C;kt rFkk djksa ls iwoZ dh vk; le&foNsn fcUnq ls Hkh 

de gks] rks % 

¼v½ izfr va’k vtZu ldkjkRed gks tk,xk 

¼c½ izfr va’k vtZu udkjkRed gks tk,xk 

¼l½ izfr va’k vtZu ij dksbZ izHkko ugha gksxk 

¼n½ _.k dh ykxr c<+ tk;sxh 

10. Economic Order Quantity is the quantity that minimizes : 

(a) Total Ordering cost 
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(b) Total Inventory cost 

(c) Total Interest cost 

(d) Safety Stock level 

vkfFkZd@ferO;;h vkns’k ek=k og ek=k gS tks 
----------------------------

 

dks de djrh gSA 

¼v½ dqy vkns’k ykxr 

¼c½ dqy LdU/k ykxr 

¼l½ dqy C;kt ykxr 

¼n½ lqjf{kr LdU/k Lrj 
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